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use Equilibrium In-Class Free Response Quiz

ﬂ
1) Acrylic acid (GHs0.H) is a precursor for many important plastics. The K.
for acrylic acid is 5.6 x 10-5.
a. Calculate the pH of a 0.10M solution of acrylic acid.
b. Calculate the percent dissociation of a 0.10M solution of acrylic acid.
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acrylic acid is added to 250mL of 0.050M sodium acrylate. < Ui r
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2] Abuffer system is created with 0.15M propanoic acid (HCHOz, Ka =
1.7x10-%) and 0.10M KCHO,.

(a) Calculate the initial pH of this buffer system.

(b} What would the pH of the system be if 0.025 mol of HCl is added to
1.0L of the initial buffer system? Assume no volume change,

(c) What would the pH of the system be if .20 mol of NaOH is added to
1.0L of the initial buffer system? Assume no volume change.
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